v YN G

GT60

YA Lt —
(38608) 74,800

G LU —f
(38600) ¥81,070

C.M5x60
* L OERE
CFryFAUUa— B-/AMYRRAU M-AFRU
FeMAal N-BRRL S tyhXIUzi—
FryFRAIYa—ty M (&T10FA)
B&I—F | 94X IOIRERAR i (FB)
79871415 M4x15 |2V > —J Oy VBFHU (4%4) 539
79871520| M5x20 |UFZ/\OI VT BGR U (47) 660
79871560 M5x60 |+ L& —&J—R/ULJEfFHU (24) | 748
No. | @%d—R & % & (F) No. | @%3d—FK & % & ()
1 |28603100|>Y>¥—J 0Oy GT60 15,708 20 (28681000 | ¥+ 7L ¥ —20Ovk~L(HAD313) GT60 13,090
2 (28603400 |EA~>U>4 GTE0 1,584 20-1 22081408 20y hL7—1(No.5) 231
3 |28603200 |~ GT60 10,472 20-2 29781350 N4-40x51U (1) 231
4 29706000 |EA > EY GT55,60 924 28625000 | E-6020 LY —(7v+1ff) GT60 8,514
5 |29717000|EX YT+ — GT55,60 275 29714300 IHY—ZANHRT YK GT55,60 275
6 (28605000 |00y K GT60 6,413 79871550 Frv ST 1— M5x50(10AKA) 660
7 128614000 |5 —HR vk GT60 275 29709000 | 7OXSTv 3+ GT55,60 407
8 |28602100|/S1 O kv 7k GT60 924 79871545 | F+vFZX 01— M5x45 (104 A) 660
9 |28608000|KS5-1 7 AR—t— GT60 2,101 74002310 | 1'% —(1G-02) GT33,22,60 7,073
9-1 29708100  7—/{—aL vk GT55,60 539 71669010 | A/\—2 755 CM-6(Rcex)) 847
9-2 129708200 F1i7¥— GT55,60 275 GT15,22,33,55,60,GF40,GT15HZ,600
10 |29730000 |/R—/LRF7U> %' (F) GT55,60 1,584
11 |28601600 |70 h/\Y >4 GT60 5511
12 (74002320 |[El#Etz>%— GT33,22,60,GF30 2,233
12-1(74002321 Bty —ERfR Uty bk (2f8) GT33,22,60 275
13 (28631000 |R—/LRF7U>%'(R) GT60 1,320
14 28602000 |59+ 7k GT60 12,441
15 128602200 |75 o> 1kl GT60 539
16 |28614100 |7 —ZXHA v~ GT60 275
17 (28601800 |V 7/\w¥> 4" GT60 5511
18 128615100 |F+7Ly—&J—RNILT ARy ey b (3ELE) GT60 407
19 (28616000 |V —R/\LTJ —= GT60 1,188

RRRMAERBATT, BRBROD, FER M - BREZEI 2BEDHBDET, 52



